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Calcul d'un Cété Manquant (Aire donnee) Nom:
Déterminez lavaleur de'L". Réponses
1) Aire=300° 2) Aire=90u° 3) Aire=100°
1.
L J 2_
6 L
3.
10
4,
4) Aire=140° 5) Aire= 24" 6) Aire=18U°
2 5.
L 8 L 6.
2 7.
8.
7)  Aire=490° 8) Aire=90U° 9) Aire=48U°
6 9.
L L 10,
7 11.
10
12.
10) Aire= 630 11) Aire=480° 12) Aire= 200
13.
. L 14.
4
15.
= 6
13) Aire= 244 14) Aire= 16u° 15) Aire=30u°
4 4 6
L L
L
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Calcul d'un Coté Manquant (Aire donnée) Nom: Clé
Déterminez lavaleur de'L". Réponses
1) Aire=300° 2) Aire=90u° 3) Aire=100°
6 10 2 1 S
5 B 5 % 5 . 9
9
6 P
3, 2
10
4. 7
4) Aire=140° 5) Aire= 24" 6) Aire=18U° 3
2 8 2 >
° 9
6.
7 14 8 0 9
2 7. 7
2
8. 9
7)  Aire=490° 8) Aire=90U° 9) Aire=48U° 3
7 10 6 o
7 r o B 3 10. 9
7 L 11. 8
10
12 S
10) Aire= 630 11) Aire=480° 12) Aire= 200
7 6 4 13 6
o o 3 S - 14, 4
4
5 15. S
7
13) Aire= 244 14) Aire= 16u° 15) Aire=30u°
6 4 5
4 4 4 4 6 6
b 48
b
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Maths ] www.CommonCoreSheets.fr 6 11-15|27]20113| 7] O




